NES—EXDFRAHERVEDOHOER

NEZARBER Y FT7 T -2 TR—L

(Bf6 - B/8)

NMERKRERY—EX EAAAMEENE | EBRMUNEYUT—VIY
H AANE | 2AE | ZF | 4ANE | 2AE | B =
Al =ENFE 1 786 | 786 | 710 826 | 826 | 750 671
M| =apE 2 834 | 834| 757| 874| 874| 797 821
& = 3 897 | 897| 820| 937| 937| 860 970
EANEE 4 950 | 950| 872| 990| 990| 912 1121
=SEE 5 1003 /1003| 925/1043[1043| 965 1271
ShamE (MBELRERBAUN) | EEEMEIZSAZT 362 — —
PRAnE ARt 3 0 HRS 30 — —
FOENE 7 7 InE 76 76 —
2N — 184 —
UNEYIRDAY MNE — — 230/AR
JAE Y Bk e nE — 30 —
gD Y NE Y EfENE 240 — 120 @ 60
@RYNEYF—LavmE — 240 (A13E%ET) 380
RHEEMEPYNEYME |  GA3EZERE)240 — GE2ME%BE) 240
ShiEEmE — — (A1E%BE)S550
ABNBINE — — 50
REIRTDAVIME 14 — —
RKEREMH — — (A2@%FET) 150
OREHRER LS — — (A2@%FET) 150
O PR B4 5 B BB AR N S 30/R — —
RERMNHE 23 23 —
H— BRI HISRIE N ] X 1 12 X 1 12 %2 12
Hhig B S AT E I SRR A 300
BFTRIR R EEME (%) 460
EZEBERRER (ATBZEE) 300
REEYARZ T AW ME (A1BZEE) 90
HARE 170 170 100
HEBEE 150 150 100
BT OR — — BRlckY 10 A~111H
B (BLO%EERQ) 130 #FHIRY BTl
AR (@) SEE|FE 1500 SEEE 1500 —
BE 1800 1800 650
BiEE 450 450 (1850 — —
FER — 450 450 | 1850 —
=5 — 1050 1050 — 1050 | 1050 —
DEREXEFREANS | » UK QERBXEREAH,S | »ANS37AUN GEREXREIREEAN S35 HHE
X1 BE-NEBEOSHEHNATS%ULREOSSIMNED 6M
%2 BELLHSEOBEAN3 0%ULREOESIEME I 6M

*xBAREE. A@R->vyoT— 44NV E-BLEYRTY,
*HBIREEBE. LOVI—2a ETIICRELHHEBAER - LUAIILRETT,
* FDMFAEDFLICH CTH—ERZRUTIEQZ. FORELLLICHEZHOM L TEREHYZEH LT -LEET,

[Fr244F4A18]




